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FIRST REVISION TEST - 2025

Standard - X| Reg No
Time: 3.00 hrs. MATHEMATICS Marks: 90

. PART -A
Choose the correct answer: : 20%1=20

_ Let A and B be subsets of the universal set N, the set of natural numbers.
Then A'u [( A~B).B is

a) A b) B YA O’ N.
. 1 the function f : [-3,3) > s defined by f (x) = X2 is onto, then S is
3) [-3,3) b) R 0)[:9, 9] @, 9] |
3. Two items are chosen from a lot containing twelve items of which four are defective, then
the probability that atleast one of the item is defective
19 17 ' 3 13
%3 - b) 33 3 )33
Jtanx

: ——dXx is
5 g.sit‘n2x Ay

@(Jtanx +C 'b) 2Jtanx *cC C)‘:1’./4Jtanx +c - d)1/24tanx+C

2
‘c)3

5. .{ex _1 is . ) g -
a)log [e* + 1] -log |e*| +C - log'|e*—1| - log |e*| + ¢

c)logeX| -log|e*=1] +c. d) log [e*| + log lg" -1]+c.
X+2, x>0 b £ TS

6. For the function f (x) = {X—Z x<0

g) lim fix)=-1  p) >!|-To f(x) does not exist '©) lim f{x)=-1 4 xll?(\)* (x)

x—2 x—0"

- 2a-x for —a<x<a _ . = & Sl
7. Iff(x) = {3x 2a for e ay Then which one the following is true?

a) {ix) is continuous for all x in.R b) f(x). is differentiable for all x> a
@}f‘(ex) is not dlfferentlable atx=a d) f(x) ls discontinugus atx=a

8. The maxlmum value of 4sin?x + 3cos? + i ;
e 0oz, 90
9. The principal value of Cosec 1(-2) Is
- -

'a)--3— b) B
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5 Halpaltkam =665 d /3 then a.bis equal to
10. If 3 and pinclude an a\r(\‘gle 120° and their magnitudes Hto 2 21 J§ i
- 2
‘F b) V3 o T &)
1. Thenumber of 5 d.%pun;bers all digits of thCh are odd is-
5 ¢) 625 - d)25,,
12. The HM of two positive numbers whose AM and GM are 16, 8 respectlvely is
a5 = M N i ' d)10,;
13. The Ilne -:——%=0 has the sIope1 it 1 g N ‘
!)a b b) only for a = 1, b-‘1 c)a>b~n dya<b
14. The expansion of (1-x)2 is f L
a)1-x+x2-..” D)1+ x+x2+ ... c)1 2x+3x ..... ‘
15. The'image of the point (2, 3) in the liney = xis =~ = -
&X-3, -2) b) (-3, 2) ) (:23) 5 a6, 2)
16. If the points (x, -2), (5, 2), (8, 8) are colllnear thenms equalto
213 S by e i R S8 6y -3 _
17. If a2 l+j+k b= 2|+x1+k C—I—j+4k and a(bxc) 70 thenx1s equalto
, -gé Nk _b)7 c)1o__’_ e d)5 iy
18. 1 G T2)@x-3) x+2, 2x- 3 | " SRR e
k) .1—t2 i 2t _ y S
: X=—-=>p, Y=—77 then = is
19 14+12" 115 x
: : x. ; 4 y j
»77/. ) LK 9 5
20. The number of roots of (x +3)* + (x + 5)4 16 CREE 3
a) 37 b) 2 4 : d)JO ;
a‘ PART - B -8 Wt oo A B
Il. Answer any seven questions: (Ques No 30 is compulsory) _ ' - Tx2=14

21. If n[ P(A)] = 1024, n(AUB) = 15 and [P(B)] 32 then ﬂnd n(AnB) = 0
- 22. -Write the use of horizontal line test. 1, _ |

- 23. Resolve the rational ei;p_reséion 28 = into partial fractions. - *
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.3 Xt-MATHS

. Convert (i) 18° to radians (i) - 108° to rﬁduans

- If ncy = 495 whatis n ?
. Find the locus of P, that moves at a cOns'tant distant of (i) two units from the x - axis

~ (i) three units from the y axis

v ] o2 o
; Construct an m x n matrix A =1 aij ], where aij given by aij = _(___Ezﬁ_ with m = 2,n=3.

¥ e

. Find a direction ratio and direction cosmes of the fo||0w|ng vector 3] + A7E 6k
. Differentiate y='sin (xz) g

i Evaluate the followmg with respect to x.‘gj & .

: 1-
fogme et
. Find the range of () 1 yrmels

logs 64 uog43 |log23 logg 3'\ L

: Fmd the value of the product Iog 8 “0949 logz4 logz4

.. Find the nearest pomt on the line x - 2y = éfrom the ongm

f'/ is small show th t\/—fl-i-mﬁ (arox)
. Ifxissmalls oh a- 1+x_~.. s pp ).
' . g% S "
. Prove that llm0 = Ioga a>0 3 _
. Given that P(A) = 052 P(B) 0.43, and P(AnB)-024 find (I) P(AnB) (u) P(AuB)
iii) P(ANB). L | '

.. Examine the contmunty of the functlon cotx + tanx |
. If A+ B= 45° then'prove that (1 + tan A) (j +tanB) = 2 ' e gl

: Flnd thie vectors of magnltude 6 whlch a?é perpenducular to both vectors a= 4\ -] +3k

; : | \&
and b-—2|+j 2k
. Evaluete,:" [(x-3)Wx+2 dX. |
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IV. Answer all the questons : ' ; . Tx5=35
41. a) Iff,0: R R are defined by f(x) = | x | ¢ x and g(x) = | x | - %, find gof and fog. (OR)
Rn if ny » n Is a multiple of 12. Prove that R is an

42.

43,

45.

P R, g
b) Ifth o652 = 10xv + 102 1 B _ ALz i e % gl
~h) eequa !onzvx‘ 10xy + 12y +;§35-_16y.-.3_—Orepresentsapalrofstralght lines,
iy f_ind (i) the value of A and the separ?fp equations of the lines. (ii) Angle between the
g lines (iii) point:of intersection of thelllessiol sl &0 v -
b ol e ety e
3 ' T g . ~ e
7. a) Evaluate the integral m i g (OR)

b) Do the limit of the function

g S T
t- %  EE
3 - ~’. ‘

. b) Show that the veCtbrS'sz'é}'i,?R

~ - Mand 60% of the cars from N are ingood conditions.

b) Inthe set Z of integers, define m
equivalence relation. oy

a) Solve the equation-x2 +3x-250 ‘ WOR)

b) State and prove Sine formula. ’

a) Prove thatin any AABC, A = s(s-a)(s— b)(g —c),where s fs the semi perimeter of
AABC. 8 T(OR) M

S""\ “ ‘
";(’: (xD exist as x — 07 State the reasons for your

" answer. i 4 ,
a) Find the value of J126 correct to twojdecimal places. (OR)

b) For the given base curve y = sinx, draW y = % sin2x -
2) Provethat || 2 3l =N (-2)f2-x) Oy +yz+20) . - (OR)

i e G
N R s

§?"-f-..8j. +9k,'3i +20]+5k are coplanar. \

b) A 'co,nsulting firm rents car frﬁfhi.threé agencies SUCh thét 50% frorﬁ a 4
| | N T : ihree a % f gency t; 30%
from agency M and 20% from agencyéN. If 90% of the cars from'L, 70% of ‘cars from

) What s the probability that the firm will get a car in good condition?

ii) Ifacarisin go'od condition, what i§ the probability that it has come from agency N?
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